Design and Build Proposal



INTERIOR FITOUTS

Proposed By:
Interio

Customer Name	Marketing Interio	
Contact Details	8976446362	
Customer Address		

INTERIOR FITOUTS

A Work-space design is nowadays intended to foster employers relationships and engagements. After all, it is the only place where people spend most of their time and hence, it becomes influential if the space around them motivates and comforts them amidst all the stress of meetings and work deadlines

The office should highlight function-driven planning with efficient design ideology to poise the elements of barrier-free minimalism

"Quality means doing it right wheen no one is watching."
- Henry Ford



THE OBJECTIVE

Interio looks to render a space that nurtures comfort and functionality with easy-going and people-centric furniture and interiors that shattered closed cluster model.

The design is aimed at integrating and envisioning a human-centric approach, to bring in more energy. productivity, and technology into the place.

Content

- Design Layout
- Scope of work and timeline
- Cost Praposal
- List of Proposed Make
- Terms & Conditions

Design Layout



Scope of work & timeline

Cost Proposal

We propose providing above described services in accordance with the following pricing schedule:

Services	Amount
Dismantling Work	87900
Wall & Ceiling Finishes	75648
Loose Furniture Works	258000
Partition Work	204688
Glass Partition Work	245979
GRAND TOTAL (Taxes & Labour Cess extra as applicable)	879206.7

Payment Schedule

Schedule	Percentage	Amount
As per the 50% Work Completion	50	468469.965
As per the 100% Work Completion	50	468469.965

Dismantling Work

Task		Unit	Quantity	Rate	Amount
Demolition of brick wall 115mm	177 022 177 177 177 177 177 177 177 177 177 1	SQM	100	235	23500
Dismantling of Doors		SQM	50	543.38	27169
Dismantling of existing tile flooring		SQM	200	189.37	37874

Wall & Ceiling Finishes

Task	Unit	Quantity	Rate	Amount
Sakarni 12mm thick POP Punning	SQM	200	260.8248	52164.96
POP False ceiling	SQM	200	121.2	24240

Loose Furniture Works

Task Unit Quantity Rate Amount

Task	Unit	Quantity	Rate	Amount
Supply of high back chairs	NOS	10	22220	222200
Supply of medium back chairs-Cube	NOS	10	3800	38000

Partition Work

Task	Unit	Quantity	Rate	Amount
25x50 wooden framework for 1200 Ht Partition	SQM	200	558.2448	111648.96
25x50 wooden framework for panelling/partition	SQM	200	469.856	93971.2

Glass Partition Work

Task	Unit	Quantity	Rate	Amount
10mm Toughened Glass	SQM	100	2484.3858	248438.58

Exclusions

Inclusions:

List of Proposed Make



THANK YOU!

Head Office Address

Ph. No.-

Mob No-

Email: